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GRS A=1/2X(0.50+1.71) X2.42= 2.7 m2

it 5.4 m2




TOM T KRG EE

EA= 4= 9 FF  (3NO. 2f43fr)

3IX fEIHERL=5. 5m Y 4IFT

3NO. 0
3NO. 2

HELTDSHE

+2.18

3.35

AL R A A=1/2% (0.50+2. 18) X 3. 35= A5 m2

it 4.5 m2




R &8 L BHERERXR

7k 33-28
e & T
IRERGE R T B g R W=3. Om_t=22mm m® 115. 2

HLH B2 H 29




e & T3 &G H &

(B8 )

i £ D80
rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr g BT | -
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, - -2 12617
. ST T
T
F
ot S 2
T Ill-lél|

= : -

=Tl %

-2 — Lol - 123.80
123.37

RELERR W=3.5(3.0)m L=38. 4m

ol R 0= 38.4 m
TfE (A) = 38.4 mX3.0m = 115.2 m2
HOE = 115.2 m2X178kg/m2 = 20505. 6 kg = 20.5 t




BB RUABREER

IfE 4 H= B4 BH®ERE | EREEXRBH|  EEEE 134y AR AR REHEE e
(QD) (/) B EEEERH Ak

EEIEE (REIER
KEEIBIE
T 1.000 =
S T (VyyRdEED) el 13.000] m3 37.00 0.35 20 0.53 1 0.53
ST (WVysRdEED Bt 17.000] m3 42.00 0.40 20 0.60 1 0.60
BT 1.000{ =
R T 25mKRiR) 17.000f m3 52.00 0.33 20 0.50 1 0.50
BEREREESL T 1.000{ =
CAAET(BE-ER) 4.000[ m3 22.00 0.18 20 0.27 1 0.27
CHEEET GunTEES) 4.000[ m3 36.00 0.11 20 0.17 1 0.17
CEEERT 1.000 =
BT (EREEER) 36.000f m2 220.00 0.16 20 0.24 1 0.24
HimEIHT 1.000{ =
IS HEREEEST 8.500] m
BT EEREEER) 5.100] m2 220.00 0.02 20 0.03 1 0.03
2 S BEREEE ST 5.500] m
BT (EREEER) 3.500] m2 220.00 0.02 20 0.03 1 0.03
ZEEIT 1.000{ =
CEET (BEEL—N) 36.000] m2 250.00 0.14 20 0.21 1 0.21
JovyiET 1.000{ =
EEXT 1.000{ =
CEEL T (KIE) 17.000f m3 32.00 0.53 20 0.80 1 0.80
CEELT ER) 6.000] m3 40.00 0.15 20 0.23 1 0.23
BJ0v EER 8.500] m
OV DU—RTER 0.925[ m3 5.00 0.19 20 0.29 1 0.29
CEBT 3.825| m2 15.00 0.26 20 0.39 1 0.39
- ] 5.525| m2 155.00 0.04 20 0.06 1 0.06
OV —REE 4000 H 4.00 4.00
JOysE 19.000 m2 11.00 1.73 20 2.60 1 2.60
1B XiEaL ) —k 8.500] m
OV DU—RTER 0.260[ m3 5.00 0.05 20 0.08 1 0.08




BB RUABREER

IfE 4 H= B4 BH®ERE | EREEXRBH|  EEEE 1Ry AR AR REHEE e
(QD) (/) B EEEERH B

CEBT 1.488] m2 15.00 0.10 20 0.15 1 0.15

OV —REAE 4000 H 4.00 4.00

2570y iEER 5500 m

OV DU—RTER 1.025| m3 5.00 0.21 20 0.32 1 0.32

CEBT 3.575| m2 15.00 0.24 20 0.36 1 0.36

Tl 4.125] m2 155.00 0.03 20 0.05 1 0.05

OV —REAE 4000 H 4.00 4.00

JovoiE 18.000 m2 11.00 1.64 20 2.46 1 2.46

2B XKiEa ) —k 5500 m

OV DU—RTER 0.278] m3 5.00 0.06 20 0.09 1 0.09

CEBT 1.238] m2 15.00 0.08 20 0.12 1 0.12

OV —REAE 4000 H 4.00 4.00

FYRHFT 1.000f =

HEELTDSTE 5.000] m2 5.90 0.85 20 1.28 1 1.28

EEIEE (REI)

RERERR T 1.000 =

-ERARERE - R 115.200] m2 679.00 0.17 20 0.26 1 0.26

& &t 28.12
AR 29




E o B2 BERER

&7k 33-28
G-
(s e IR TEE L e~ B 55 ~ F i 20.5 s TH A ST £ Y
B i 3.0X1.5X22mm 20. 5
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T F X o K
ZE T 477K 30

T & | SEMATE Ty e
LRy - LA - FR - ] B HAL " = % 1

JE Hh 5K 20 1

+ T =\ 1

il T = 1

- HY ol A W m3 3. 4

1 H o m3 7. 8

R =\ 1

B+ i+ m3 10. 10

LI L 20 1

LIREIE A m2 30. 30

FE AL T z\ 1

Fk A g% T m3 10. 10

E T = 1

FEAE T =X 1

fEA > — b AR 43 2 m2 30. 30




T F= % = % i %

ZEH T 2 7K 30

LOF 4 | SCEEALE Ty —
THX Sy - T - R - ARl B i HLAL & IR i

7y 7L = 1 1

EELT =X 1 1

K 4 + W m3 14.9 15

R it i+ m3 5.7 6

a7V -7y 7T = 1 1

7 a7 R H300 m 14.0 14.0

1:0.5

70y oo m2 28. 7 29

FOARA RC—40 m3 11.7 12

Kz 7V —h m 14. 0 14. 0

TV z\ 1 1

IEHEE IR L = 1 1

WAELD S i+ m2 4.7 5

R L =X 1 1

REGER T (%) 20 1 1




T F X o K
ZEH T 2 7K 30

TR 4 | seREETE Ty e
THX Sy - T - R - ARl B HLAL & i

IER - i+ m3 10. 10

A RC-40 t=10cm m2 20. 20

ER I AR P, FR T m3 12. 12

T—— bk AXIE - iE m2 30. 30

BT Z WSy e kg 3. 3

IREER T ki) 2 1

BB E W=3. Om_t=22mm m2 42. 42

SRR
(R ER A A IR FEED L t 7. 8
b €5, SR 1 t 7. 8




T I HERKREFEXR
AT £k 30 : c c
+ T

i H T P ot W m’ 3.8

1 e o 2 m’ 7.7
R B+ i At m’ 10.3
EmEIE T LY B 1 m’ 30. 0
% L ALEE T 7 ALBR EECHEE I m’ 10. 4




Mz = = Yol
+ T B o= 5 B OE
. . . PEE] (Hl) - C1 B o PEE (Bat) :c2 N
W B BE ||[1EIEEEEE — — — g = & E B — — — g 2=
Wr | FWnE | S Wr | FWnE | S

NO. 0 0. 00 0. 00 0.7 - - 0. 00 - -
NO. 1 5.50 5.50 0.1 0.40 2.2 5.50 0.9 0.45 2.5
NO. 2 6. 50 6. 50 0.2 0.15 1.0 6. 50 0.5 0.70 4.6
NO. 3 2.00 2.00 0.4 0.30 0.6 2.00 0.1 0.30 0.6

m m m3 m m3
& £ 14. 00 14. 00 3.8 14. 00 7.7




+ T HKEFEE

. L B %1 B » B .
T HOEE || & EEERE TR ﬂ?i,;;,:ﬁﬁ v T i 2L & 1F B TR T i 2L
NO. 0 0. 00 0. 00 0.5 - - - -
NO. 1 5.50 5. 50 1.1 0. 80 4.4
NO. 2 6. 50 6. 50 0.5 0. 80 5.2
NO. 3 2.00 2.00 0.2 0.35 0.7
m m m3 m m3
& F 14. 00 14. 00 10.3




+ T 0oE i R E
. o o B L N B N
HR PE OB |[1E1E R — - i B & 1E BB — - i B
" B [vHEE] @ & " B [vHEE] @ &

NO. 0 0. 00 0. 00 2.1 - -
NO. 1 5. 50 5. 50 2.1 2.10 11.6
NO. 2 6. 50 6. 50 2.2 2.15 14.0
NO. 3 2. 00 2.00 2.2 2.20 4.4

m m m2
& F 14. 00 14. 00 30. 0




75 S U=

mOHl L I HET

H H 2 H o Hl T B+ M B % WO

(L) (Art) (+#5) (A L) (A1) (A L)
+ T 3.8 7.7 10.3
7y 7T
s T 14.9 5.7
= 2 3.8 7.7 i 14.9 2 10.3 m® 5.7

¥ £ I = 3.8 + 7.7 + 14.9 = 26.4

w A = = —
Y L1 = 26. 4 — ( 10.3 + 0.0 + 5.7 ) = 10.4




% om L O BHERER

IR A0
L~UL 2 L~UL 3 L~ 4 L~UL b we oo " o -
T fE B R @l W L . 1
VT

R T HAE S — | Pkl ? 30.0




% m L g ) R
. L . MAES—F . L . o .
HR PE OB |[1E1E R — - i B & 1E BB — - i B
" E [vHEE] @ R " B [vHEE] @ &

NO. 0 0. 00 0. 00 2.1 - -
NO. 1 5. 50 5. 50 2.1 2.10 11.6
NO. 2 6. 50 6. 50 2.2 2.15 14.0
NO. 3 2. 00 2.00 2.2 2.20 4.4

m m m2
& F 14. 00 14. 00 30. 0




Q4

0y JFEL BKERKRBER

ZE T 7k 30
L)L 2 L)L 3 L)L 4 L)L 5 weo g " o
T ] W W i
Juy 7L
EEE+T K + m® 14.9
R i m® 5.7
a7 V—b7uy T 70y 7 FEHAE H300 m 14. 0
Ty 7 %i&%b m® 28. 7
SAA RC-40 m° 11.7

K=z 7 ) —k m 14. 0




> - N N2 = o= ke
7 m oy 7 L FX¥ L+ T &G HFE
. . . RIE : E N » MW F N
o= B BE |[EIE R — i B [En=E — i B
Wr | FHWmE| N2 Wr if | EBIWE | S

NO. 0 0. 00 0. 00 1.0 - - 0. 00 0.4 - -

NO. 1 5.50 5.50 1.1 1. 05 5.8 5.50 0.4 0.40 2.2

NO. 2 6. 50 6. 50 1.0 1. 05 6.8 6. 50 0.4 0.40 2.6

NO. 3 2.00 2.00 1.3 1. 15 2.3 2.00 0.5 0.45 0.9

m m m3 m m3

& £ 14. 00 14. 00 14.9 14. 00 5.7




N ~ N =, = Jhn
a7 —krT7mv T B & B B OE

. B B /) - M#FE7 v/ ¢ SL B » HOAEE U B

WA BB || e — : _ o i TE g — — — o
R PBEE] @ M AR

NO. 0 0.00 0.00 2.18 - - 0. 00 0. 89 - -

NO. 1 5.50 5.50 2.08 2.130 11.7 5.50 0. 84 0. 87 4.8

NO. 2 6. 50 6. 50 1. 96 2.020 13.1 6. 50 0.78 0. 81 5.3

NO. 3 2.00 2.00 1.92 1. 940 3.9 2.00 0.77 0.78 1.6

m m m2 m m3

& & 14. 00 14. 00 28. 7 14. 00 11.7




7oy 7L EERE

fi rarys—r7mry s T

A=/
X g3
gl Bl 7wy 7 FE R
i fig - H300 B 7 :m
H Jiy W& i G
NO. 0~ NO. 3 14.0
N 14.0
o B 14.0




7oy 7L EERE

g 1R Il Nl = /4
A=/
X g3
S Bl Rz 7 ) —k
jsik B H {L:m
il Jiy W& i) C:3
NO. 0~ NO. 3 14.0
Sz 14.0
o B 14.0




ff T T HERERXR

AT £k 30 \ ‘ ‘
SRUEOpIS
LI T A+ 5 it JH m” 4.7




T 0 0 L E R A E
WA+ S
FYMFTT  FIBER L=14.0m HIREE L=14.0m FYHITFT
£1+m>5 £1Tn5%
B (=) [9p] S
T =) = T
1.67 — ‘ ‘ ‘ 1.56
D
(%5}
- S
[fp) (=] ~ §
> o o
y y
WATO SR GEASHA) A=1/2X (0. 50+1. 67) X2.35= 2.5 m2
(B4 A=1/2X% (0.50+1.56) X2.12= 2.2 m2

it 4.7 m2




R &

T HERER

AT £k 30 \
e & T

IRERIERE T (1) R+ i+ m® 10. 1

L {EMA RC—40 t=10cm m® 20. 4

I EOE B P - m’ 12. 1

TN—v— bk m® 30.3

BET 7 WSy e kg 3.1

IRERIER T (kR B g R W=3. Om_t=22mm m® 42. 0

e B 2K B| 18




e & T3 &G H &

TRERGERE (BEkAR) fRExERR (Bt) L=6.8m

L&A (t=10cm)L=6. 8m

oj25 300 5.7 11

LERE (RC-40) 1®

R (BRR)

6. 8m

L

B R (1)

)

1R

D-WDwmE

114021

AR

- O

4000

500 3000 500

I——+
+ERA (RC-40)

N s " 13740 V4
ERER (Kt) BE % EREL (Ut
RS = 10.1 m3
EMA = 6.80 X3.0= 20.4 m2 A=1/2X (4. 00+5. 28) X 0. 64=2. 9Tm2
IR E B s = 10.1 + 20.4x0.10 = 12.1 m3
T—— k= 30.3 m2

BT HE=  30.3 X 2. 0kg/19. 44m2= 3.1 kg




. &% B T WE R REE
. . . R+ N . B
it I | K(E Rl — 5 = & 1 B — 5 =
Wr | EYWWE | S2 AE Wr | EYWWhE | S2 #E
0 0. 00 0. 00 0. 00 - - -
A-A 5.70 5.70 2.97 1. 49 8.5
+6. 8 1.10 1.10 0. 00 1. 49 1.6
m m m3 m m3
& F 6. 80 6. 80 10. 1




i L%

il

At RO

R % E B T
(B8 )

BT A IR B 45
e 4128 14184
T DU\ Z N
1R E%E #EW=3. 5 (3. 0) L=14. Om _
,Hnwhjhﬁ”,.m,”m,mﬁmm,.Aw

141.03 Y
14032 T AT T8
139.90 - 14052 j %140.64- N o

\ N/
N el

_NOT

13740 :

gk R 0=

[ (A) 14.0 mX3.0m =

42.0 m2
H o= 42.0 m2X178kg/m2 =

14.0 m

3@*&1‘»\“

7476 kg =

7.5t




BHRUABREER

I8 4 H= BAI| BEXE | EREXRBH| FHEHERB YU BHHRAK AT EE -k
(QD) (8) B EEHEERHE Bk

BEEISE(REIZRO
KEERIBIE
KEERIBIE
T 1.000] =®
WL T (WyskoiEED  Hul 4.000] m3 37.00 0.11 20 0.17 1 0.17
T (WyykoiEAD BT 8.000[ m3 42.00 0.19 20 0.29 1 0.29
BT 1.000{ =
R T (2.5mKiE) 10.000| m3 52.00 0.19 20 0.29 1 0.29
SEEERT 1.000] =®
CERBT EEEEELR) 30.000{ m2 220.00 0.14 20 0.21 1 0.21
EET 1.000{ =
SEEI (EEL—N) 30.000{ m2 250.00 0.12 20 0.18 1 0.18
JoysET 1.000] =®
EEXT 1.000{ =
CEEL T (KIE) 15.000] m3 32.00 0.47 20 0.71 1 0.71
CHEELT T ER) 6.000] m3 40.00 0.15 20 0.23 1 0.23
JOyOTEER 14.000] m
OV —hTER 1.523] m3 5.00 0.30 20 0.45 1 0.45
EIRT 6.300] m2 15.00 0.42 20 0.63 1 0.63
- ] 9.100{ m2 155.00 0.06 20 0.09 1 0.09
OV —EAE 4.000( H 4.00 4.00
JovoiE 28.000] m2 11.00 2.55 20 3.83 1 3.83
-XRigaroU—k 14.000] m
OV —hTER 0.428] m3 5.00 0.09 20 0.14 1 0.14
EIRT 2.450 m2 15.00 0.16 20 0.24 1 0.24
OV —EAE 4.000( H 4.00 4.00
TYHIFT 1.000] =
HEE LT DS 5.000] m2 5.90 0.85 20 1.28 1 1.28




EEIEEURED)

{REREIRT (L) 1.000] =

HER R (2.5m Bl E4.0mK#E) 10.000| m3 86.00 0.12 20 0.18 0.18

- FERA 20.000] m2 268.00 0.07 20 0.1 0.11

JIL——RE 30.000] m2 1000.00 0.03 20 0.05 0.05

RERE R T (BigkiR) 1.000] =

BEIRERE - B E 42.000| m2 679.00 0.06 20 0.09 0.09

& § 17.17
HHEBEZ 18




E o B2 BERER

E?ﬁﬁmﬁﬁso \
G-
B ERAA e IRER AR E L B it~ B~ HL i 7.5 (R THAEG L Y
B i 3.0X1.5X22mm 7.5




